EARAROBEEIERT — 2 N— IBISH —F

2017568108 (£) SEIBR#H3H

Ellc=%5 5005TF ¥5%R3%L (B

(4¥18)

oN=}
EE

‘ [R1%] & ‘ [RERBE] — |2 (&) 24000 B

[~®%] 1 % 10,500,000 @ 2 7 :4,200,000 @ ~ 3 #&:2,600,000 ™

4 7% 11,600,000 53 1,050,000 F

& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
S 43 | HALBAF 2:24.4 4-4-3-3 |35.6| 96.4 | 4 506 | iIERE (3ER)
1 9 /=7 53.0 (—) -10) | ER%E
RiFA—TANI N BiA ST HET7— L
5 i 4 | AlRHE 2:24. 2-2-2-2 | 35.8| 96.5 | 1 494 | FINFE (BR)
ol 4| *TYavEF<TF 55.0 (7€) (14) | BAAFHE
LAY w4 =7 B:¥—UtLH ERKS
N 4 5 | EPR 2:24.6 6-6-8-6 |35.5| 94.3 | 9 504 | REMBX (ER)
3lgl13| V7% bIb 57.0 ) (-) | KLEfTHE
R:xA1ZGr7—R vl 21 SZvae]
B HE : —13-12- MKER (ER)
alglial 72 =271 -k i 5 e 2(/7211:) 13-13-12-11{ 35.2 | 94.1 | 8 (4+3:) A;‘gé
R:tE>r/QnJAqA B IMFETAYh—F FUALT7—L
. t 4 | EHEEH 2:24.7 4-4-3-3 | 35.8| 93.4 | 2 492 | RiERK (ER)
EE 2 N K744 [B] * 5E7_0 (1/2) (18) B #¥o7—L—>9
R:yvo7x B:L—Xgq2T =Y Tr7—LA
. # o3 | dtRR— 2:25.1 12-12-12-13| 35.5 | 89.1 | 10 | 454 |ZHET (=)
6711 7YV=7YVyH— 53.0 @ 1/2) | @ s-zerx
R:bhT>tw> K B:q4a—JbiS— b — #Et /—Xex
N s BEHZ : -9-8- AN (EXR)
715|7E Jr)—=3/)b # 5 57_0% 2(.12/52.>2 11-9-8-9 [35.9| 88.3 | 11 zgz)s s
L:F4—TZHA B:TATII—F4Y 799577 — I
— . 4 o4 | EREH 2:25.2 14-14-12-9 | 36.0 | 88.4 | 6 470 | BRBFIZ (BH)
s o] =F~EAH—~ 6720 (nF) oy | AvEAES
R:)>h—> B:ZRPEOTS—% '
S Y st 5 | JIFESH 125.3 2-3-3-3 [36.5| 87.9 | 3 476 | FREREE (E®R)
ol 5| TN 57.0 (7€) 42) |H Ho Y17 770k
X THANAN B ELT7XETI L J=HrTr—L
= W o4 | FIEHEZ 2:25.9 6-6-6-6 | 36.8| 82.3 | 5 428 | HHER (ER)
10/6|8| A7 (X~ T5A 57.0 (3 1/2) 42) | (8 HAL—2F-2
L ZFA4d—I K Bgr—H—-) HE77—L
. . o4 | EEBZ 2:26.1 9-11-10-11 [ 36.6 | 80.0 | 14 | 512 |SHE— (BR)
111712 ]/7{7/# 57.0 ) (-14) THECS
i RKYIYRAIZA B aLTF4T (B) A1 -FRL—->a>@aEI7r
S 3 s 4 3 | BEREREA 2:26.2 6-6-6-6 | 37.1| 79.7 | 7 446 | BIET (ER)
121111 13 '777 IV 53.0 (3/4) (+6) AARGFIE
RR—HNE BHL R4 —FX FE%S
N = 45 | AZEN 2:26.5 1-1-1-1 | 37.9| 78.0 | 12 480 | EHIEF (EH)
13 3| /N PIVTTAR 57.0 e (g | ENBE
L:7A7% B:NMLTRA mER Mk
. 5 4 5 | EHEBE 2:26.7 9-9-10-14 | 36.7 | 74.2 | 13 | 474 |AR—R (E®)
14 6|y FAH—I 55.0 A 1/4) (o) |EERF
R:nN—vI54 B:dy hFE- (B) #HAEIA-FKL—Ya>AET7
@ 21 L
£y 47.6-35.8
NA> R4 L | 12.6-11.5-11.7-12.2-12.3-12.2-12.3-12.0-11 .8-11 .4-11.7-12.7
® I—F—@EBIERL
13=3r= (x3,4,5)-(2,9) (1,8,13) (6,12)7,11,14=10
Aol=5"= 3,4-5(2,9) (1,8,13) (6,7)12,11,14=10
30—4-— (¥3,4)-(2,5,9) (1,8) (7,13)-(6,12) (11,14,10)
43—+ — (x3,4) (2,5,9) (1,8,13) (7,10) (12,14)11-6
[ RN
B Op 9 630H 794K 4-9 5001 & 3-6 600 &R 4-9-13 10,470M
BB 9 200M 9-13 2,470/ B E 4-9 1,180M EE 9-4-13 47,440
4 150 4-13 1,770H B H 9-4 2,550M
13 560

ABICOVWTRDTEEERROODE. TR LIV,




